

Section 2.2

$$2.) a_n = 3n^2 : \begin{array}{cccccc} 0 & 3 & 12 & 27 & 48 & 75 \\ n & : & 0 & 1 & 2 & 3 & 4 & 5 \end{array}$$

$$9.) a_n = (-1)^n n : \begin{array}{cccccc} 0 & -1 & 2 & -3 & 4 & -5 \\ n & : & 0 & 1 & 2 & 3 & 4 & 5 \end{array}$$

$$10.) a_n = \frac{(-1)^n}{(n+1)^2} : \begin{array}{cccccc} 1 & -\frac{1}{4} & \frac{1}{9} & -\frac{1}{16} & \frac{1}{25} & -\frac{1}{36} \\ n & : & 0 & 1 & 2 & 3 & 4 & 5 \end{array}$$

$$19.) 1, \frac{1}{4}, \frac{1}{9}, \frac{1}{16}, \frac{1}{25}, \frac{1}{36}, \frac{1}{49}, \frac{1}{64}, \frac{1}{81}, \dots$$

$$20.) -1, \frac{1}{4}, -\frac{1}{9}, \frac{1}{16}, -\frac{1}{25}, \frac{1}{36}, -\frac{1}{49}, \frac{1}{64}, -\frac{1}{81}, \dots$$

$$21.) \frac{1}{2}, \frac{2}{3}, \frac{3}{4}, \frac{4}{5}, \frac{5}{6}, \frac{6}{7}, \frac{7}{8}, \frac{8}{9}, \frac{9}{10}, \dots$$

$$22.) \frac{1}{5}, \frac{4}{10}, \frac{9}{17}, \frac{16}{26}, \frac{25}{37}, \frac{36}{50}, \frac{49}{65}, \frac{64}{82}, \frac{81}{101}, \dots$$

$$26.) \begin{array}{cccccc} a_n : & 0 & 2 & 4 & 6 & 8 & \dots \\ a_n : & 0 & 2 \cdot 1 & 2 \cdot 2 & 2 \cdot 3 & 2 \cdot 4 & \dots \\ n : & 0 & 1 & 2 & 3 & 4 & \dots \end{array} \quad \boxed{2n}$$

$$27.) \begin{array}{cccccc} a_n : & 1 & 2 & 4 & 8 & 16 & \dots \\ a_n : & 2^0 & 2^1 & 2^2 & 2^3 & 2^4 & \dots \\ n : & 0 & 1 & 2 & 3 & 4 & \dots \end{array} \quad \boxed{2^n}$$

$$28.) a_n: 1, 3, 5, 7, 9, \dots$$

$$a_n: 0+1, 2+1, 2 \cdot 2+1, 2 \cdot 3+1, 2 \cdot 4+1, \dots \quad \boxed{2n+1}$$

$$n: 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad \dots \quad n$$

$$29.) a_n: 1, \frac{1}{3}, \frac{1}{9}, \frac{1}{27}, \frac{1}{81}, \dots$$

$$a_n: \frac{1}{3^0}, \frac{1}{3^1}, \frac{1}{3^2}, \frac{1}{3^3}, \frac{1}{3^4}, \dots \quad \boxed{\frac{1}{3^n}}$$

$$n: 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad \dots \quad n$$

$$30.) a_n: \frac{1}{3}, \frac{2}{5}, \frac{3}{7}, \frac{4}{9}, \frac{5}{11}, \dots$$

$$a_n: \frac{1}{2+1}, \frac{2}{2 \cdot 2+1}, \frac{3}{2 \cdot 3+1}, \frac{4}{2 \cdot 4+1}, \frac{5}{2 \cdot 5+1}, \dots \quad \boxed{\frac{n+1}{2(n+1)+1}}$$

$$n: 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad \dots \quad n$$

$$31.) a_n: -1, 2, -3, 4, -5, \dots$$

$$a_n: (-1)^1 \cdot 1, (-1)^2 \cdot 2, (-1)^3 \cdot 3, (-1)^4 \cdot 4, (-1)^5 \cdot 5, \dots \quad \boxed{(-1)^{n+1} (n+1)}$$

$$n: 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad \dots \quad n$$

$$34.) a_n: \frac{1}{2}, -\frac{1}{8}, \frac{1}{18}, -\frac{1}{32}, \frac{1}{50}, \dots$$

$$a_n: \frac{(-1)^0}{2 \cdot 1^2}, \frac{(-1)^1}{2 \cdot 2^2}, \frac{(-1)^2}{2 \cdot 3^2}, \frac{(-1)^3}{2 \cdot 4^2}, \frac{(-1)^4}{2 \cdot 5^2}, \dots \quad \boxed{\frac{(-1)^n}{2 \cdot (n+1)^2}}$$

$$n: 0 \quad 1 \quad 2 \quad 3 \quad 4 \quad \dots \quad n$$

$$38.) a_n = \frac{2}{n+1}: 2, 1, \frac{2}{3}, \frac{2}{4}, \frac{2}{5}, \dots$$

$$\lim_{n \rightarrow \infty} \frac{2}{n+1} = \frac{2}{\infty} = 0$$

$$39.) a_n = \frac{n}{n+1} : 0, \frac{1}{2}, \frac{2}{3}, \frac{3}{4}, \frac{4}{5}, \dots$$

$$\begin{aligned} \lim_{n \rightarrow \infty} \frac{n}{n+1} &\stackrel{\text{"}\infty\text{"}}{=} \lim_{n \rightarrow \infty} \frac{n}{n+1} \cdot \frac{1/n}{1/n} \\ &= \lim_{n \rightarrow \infty} \frac{1}{1 + 1/n} = \frac{1}{1+0} = 1 \end{aligned}$$

$$43.) a_n = \frac{(-1)^n}{n+1} : 1, -\frac{1}{2}, \frac{1}{3}, -\frac{1}{4}, \frac{1}{5}, \dots$$

$$\frac{-1}{n+1} \leq \frac{(-1)^n}{n+1} \leq \frac{+1}{n+1} \quad \text{and}$$

$$\lim_{n \rightarrow \infty} \frac{-1}{n+1} = 0 = \lim_{n \rightarrow \infty} \frac{1}{n+1}, \quad \text{so}$$

$$\lim_{n \rightarrow \infty} \frac{(-1)^n}{n+1} = 0 \quad \text{by Squeeze Principle}$$

$$45.) a_n = \frac{n^2}{n+1} : 0, 1, \frac{4}{3}, \frac{9}{4}, \frac{16}{5}, \dots$$

$$\lim_{n \rightarrow \infty} \frac{n^2}{n+1} \stackrel{\text{"}\infty\text{"}}{=} \lim_{n \rightarrow \infty} \frac{n^2}{n+1} \cdot \frac{1/n}{1/n}$$

$$= \lim_{n \rightarrow \infty} \frac{n}{1 + 1/n} = \frac{\infty}{1+0} = \infty \quad (\text{DNE})$$

$$49.) a_n = 2^n : 1, 2, 4, 8, 16, \dots$$

$$\lim_{n \rightarrow \infty} 2^n = \infty \quad (\text{DNE})$$

$$50.) a_n = \left(\frac{1}{2}\right)^n : 1, \frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \frac{1}{16}, \dots$$

$$\lim_{n \rightarrow \infty} \left(\frac{1}{2}\right)^n = 0$$

$$72.) \lim_{n \rightarrow \infty} \left(\frac{2}{n} - \frac{1}{n^2+1} \right) = \lim_{n \rightarrow \infty} \frac{2}{n} - \lim_{n \rightarrow \infty} \frac{1}{n^2+1}$$

$$= \frac{2}{\infty} - \frac{1}{\infty} = 0 - 0 = 0$$

$$75.) \lim_{n \rightarrow \infty} \left(\frac{n^2+1}{n^2} \right) = \lim_{n \rightarrow \infty} \left(\frac{n^2}{n^2} + \frac{1}{n^2} \right)$$

$$= \lim_{n \rightarrow \infty} 1 + \lim_{n \rightarrow \infty} \frac{1}{n^2} = 1 + \frac{1}{\infty} = 1 + 0 = 1$$

$$78.) \lim_{n \rightarrow \infty} \left(\frac{n+2}{n^2-4} \right) = \lim_{n \rightarrow \infty} \frac{n+2}{(n+2)(n-2)}$$

$$= \lim_{n \rightarrow \infty} \frac{1}{n-2} = \frac{1}{\infty} = 0$$

$$81.) \lim_{n \rightarrow \infty} \frac{n+2^{-n}}{n} = \lim_{n \rightarrow \infty} \left(\frac{n}{n} + \frac{2^{-n}}{n} \right)$$

$$= \lim_{n \rightarrow \infty} \left(1 + \frac{1}{n \cdot 2^n} \right) = \lim_{n \rightarrow \infty} 1 + \lim_{n \rightarrow \infty} \frac{1}{n \cdot 2^n}$$

$$= 1 + \frac{1}{\infty} = 1 + 0 = 1$$

$$83.) \quad a_{n+1} = 2a_n, \quad a_0 = 1 :$$

$$a_1 = 2a_0 = 2(1) = 2$$

$$a_2 = 2a_1 = 2(2) = 4$$

$$a_3 = 2a_2 = 2(4) = 8$$

$$a_4 = 2a_3 = 2(8) = 16$$

$$a_5 = 2a_4 = 2(16) = 32$$

$$88.) \quad a_{n+1} = 4 - 2a_n, \quad a_0 = \frac{4}{3} :$$

$$a_1 = 4 - 2a_0 = 4 - 2\left(\frac{4}{3}\right) = 4 - \frac{8}{3} = \frac{4}{3}$$

$$a_2 = 4 - 2a_1 = 4 - 2\left(\frac{4}{3}\right) = \frac{4}{3}$$

$$a_3 = \frac{4}{3}, \quad a_4 = \frac{4}{3}, \quad a_5 = \frac{4}{3}$$

$$91.) \quad a_{n+1} = a_n + \frac{1}{a_n}, \quad a_0 = 1 :$$

$$a_1 = a_0 + \frac{1}{a_0} = 1 + \frac{1}{1} = 2$$

$$a_2 = a_1 + \frac{1}{a_1} = 2 + \frac{1}{2} = \frac{5}{2}$$

$$a_3 = a_2 + \frac{1}{a_2} = \frac{5}{2} + \frac{1}{5/2} = \frac{5}{2} + \frac{2}{5} = \frac{29}{10}$$

$$a_4 = a_3 + \frac{1}{a_3} = \frac{29}{10} + \frac{1}{29/10} = \frac{29}{10} + \frac{10}{29} = \frac{941}{290}$$

$$a_5 = a_4 + \frac{1}{a_4} = \frac{941}{290} + \frac{1}{941/290} = \frac{941}{290} + \frac{290}{941} = \frac{969,581}{272,890}$$

93.) assume $\lim_{n \rightarrow \infty} a_n = L$; then

$$a_{n+1} = \frac{1}{2} a_n + 2 \rightarrow (n \rightarrow \infty) \quad L = \frac{1}{2} L + 2 \rightarrow$$

$$\frac{1}{2} L = 2 \rightarrow L = 4$$

96.) assume $\lim_{n \rightarrow \infty} a_n = L$; then

$$a_{n+1} = -\frac{1}{3} a_n + \frac{1}{4} \rightarrow (n \rightarrow \infty) \quad L = -\frac{1}{3} L + \frac{1}{4} \rightarrow$$

$$\frac{4}{3} L = \frac{1}{4} \rightarrow L = \frac{1}{4} \div \frac{4}{3} = \frac{1}{4} \cdot \frac{3}{4} = \frac{3}{16}$$

100.) assume $\lim_{n \rightarrow \infty} a_n = L$; then

$$a_{n+1} = \frac{3}{a_n - 2} \rightarrow (n \rightarrow \infty) \quad L = \frac{3}{L - 2} \rightarrow$$

$$L^2 - 2L = 3 \rightarrow L^2 - 2L - 3 = 0 \rightarrow$$

$$(L - 3)(L + 1) = 0 \rightarrow L = 3 \text{ or } L = -1$$

105.) assume $\lim_{n \rightarrow \infty} a_n = L$; then

$$a_{n+1} = \sqrt{2a_n} \rightarrow (n \rightarrow \infty) \quad L = \sqrt{2L} \rightarrow$$

$$L^2 = 2L \rightarrow L^2 - 2L = 0 \rightarrow$$

$$L(L - 2) = 0 \rightarrow$$

$$L = 0 \text{ or } L = 2$$

the table suggests the limit is 2 for $a_0 = 1$.

n	a{n}
0	1.00
1	1.41
2	1.68
3	1.83
4	1.92
5	1.96
6	1.98
7	1.99
8	1.99
9	2.00
10	2.00